% 4F % 100 & 37i8 4 B R4 DR
B8 /EUa s [HA): ¥ i g 4§ [B4902) (=) " 2Pk Py L FHY 1008120 FEH? [44]
FEFP I IFRS ~ ffdiz 4 g%ﬁ () #5729 100# 12" 2 Hgffp &% 27 [44]
P L ’ — *éﬁ‘iﬁ-%%i%ii:ri%ﬁ: (3);%%"4\?1004’%1‘2’3?‘%5’?%#&15@;%@%%5%?? [4 4]

R A 'fg;i;fi‘ﬁff;l;%i% Yo¥ s R BLAE ~ R AER AT AR 0 Ao RS THE R (z) P 2d?F100& 127 FERTY i3z £355F 57+ 7 [44]
Q7% 5-EHG > £ T A2 2FHA %\ﬁok\i’l?ZOA\o (ir)“2}?\3‘2’3;100-&1\2948;;@@,47 E",f%@’;}ﬁ;fig%ﬁ$%§;“-1‘?[4/}]
QAFHIANE LI I AR I TN %X F:]a:ﬁ T X EREPMF-FRRETR .

@%i‘ﬁ?%}im%a‘r/} N oF A ,ﬁﬁ-'r{??‘u Ree -

B A @ p R EAT IR0 NEF)EFE 2 @R MRS IR R F FYETAIRA (BRI B ER)
‘-‘:’M‘E'Jﬁﬁﬂi*“%ﬁ_'ﬁﬁi“fé?1?3%i1*—?’”1§§’.3 ALE SERLE né’*—"’w 14e 10 ‘- N A 241 10ae : g o E g Y
FEREPEp Rty PP it 03 o S e (comapeto0adr 1ok 1002 2" Hifh ri0ir: $300000 3K 7
©% % X5 Hw ’%ﬁ'}"ﬁizﬂu?x}as . =7 100 & & g 1% ’”*fgfﬁ*$%?7ikl ? [5~]

)T AP0 ERL MO0 EREPEGPEPELpBENE 1000 F 5

= i "~ l” g~ YL ] UEIAN E] EY A1

(" ) ‘E’k*‘f)\ﬁ'\fﬁ-*@ﬁﬁlﬁ 192\'7“@»1‘&7 FvIg u+lfix”‘7 [8»4;\]
»_«Lr15'80,gm(ﬂP »g\p\mr,f!yfmgp8gm) ﬂ_y‘:;n \ﬂ»]oo_&}if@}}\ ?

(Z) BERF2ZBF 2l BB RARTH L FEHERFE A UEP H g 2
o [8 4 ) % : E’ﬂ— gﬂ— ) e ¥ Arig f%?%ﬁ;ﬁ‘? [10 4]

(Z) & #1 CUI00 43+ & Cuz - TRETE LRI SERE L (Z) $ 1T £t W RBERT T LG i #£2 [54]

*EB—'

qea

u

J,_jfé-é i x% B TE 2 ?ﬁ:& A2 £ ¥ CU102 }%"ﬁp;ﬂ;'];if A o 3R HHp Pt - P T
=y -«é\ “‘FE P ’rﬁiﬁ‘fﬂ?ﬁ%a CU100 “"/““4'@7*,@’(74’, in 2 ek g s ,_ ,
i B2 F'\ ’__/E‘)k l‘}l £ 2};],_,,_[_4- i rb % 511)4; T 2, _ﬂ P : e .
CAIES #F* e (4] bt A RTAL $12,000 |
3P - $L{7 Ff ko __4,000 16,000
e it e et o $50,880
RHBET RN ﬁjpm (IAS12) %> 3 14 ﬁgé_ijuhf w8 fF R EE $ 5,000
A SR ATIELE 7R !% ? (FH A2 R TERT AL RENERL G FR AR 880 5,880
Iy o) B 417 HHE B bpgE 45,000
(-) - ?fﬁ_ % &% CUT50 > #Ed 4% 5 CU100 - 4F4rt 2 % 3+47% 5 CU90 » FaPX6ET! e h FileeT
#F 5 25% o [5 4] £ HE 2 P e
(=) & Bl A 5 RAS Riasl | CUI00- 0 fut £ &FASRFIEFLAF SR $38,000 $41,000
R TR g 5 25% <[54 ) e 55,000 54,600
(Z) it f Fedetem 2485 CUT00 2 | 8 & 2 )45 > fo 5 25% o 4R 4t &) el 1,710 880
2 B A3 @k o [54) R L 5 3,000 4,000
(2) BEEEE? EEmAPECUI00 1 kfids B o fok 5 25% - [54] G 63,290 ’
s . paofadtkz AL 38 293267 0P ASL2AFLENT Y
= IR o SRIT
PP A RE VLR KA EA 100 E 1520 B ERTREAT (- )MEmAF LR HYEUR 2P X6ET Y P2 THA &L 0 3L & ) A& o
(1) B = = 555 5 £ 4 4 37$5,000,000 (# 3 #) - [15~]
(2) B = - w5 £ 4 8 41$3,150,000 (5 f2) - (=) ohd g3 AR AMEMIRRAREIRG THHP RPN BN E 2
(3) 7H4d2 4 8 37$2,000,000 - iz HEd [54]
(4) 517 i § 16 3 2 297 237 $400,000 - (A)X £ 7 4% (L)iFH 2 &
(5) P~ RLT T A6 #2 97 4237$200,000 ¢ (C)ehis & (D)Ff = " f i
() 31 % 1% 1§ 2. (e {2.47$100,000 - (E)#e i % 2 & (K)= & ﬁﬂﬁé s
(7) @R 2 % 8% g;ﬁﬁgg%o,ooo (G)% = Flasr Exad > EHRE35 | (HP 7
) F 8 A TSRS (J)£5



